SONET meeting Jan. 16, 2010 (Friday)
People: Shawn, Mark, Huiping 
Summarized by: Huiping

1. General discussion

(1) Shawn will have a student, 6 hours a week, for the SONET project, 

(2) Develop a catalog of measurement types (with characteristics and units (i.e., standards))

(3) Motivation: 100 datasets, 25 measurement types; if we have the catalog, it would be helpful to select the measurement type to do the annotation. 

(4) Based on OBOE, OGC, operability, Output measurement type in OBOE/OGC

(5) Web-based, browse for units, search for units. (Online unit dictionary? Mark)

(6) Mark Q: It overlaps with what Ben is working on a little bit.

(7) Mark Comment: Measurement can apply to what kind of entity types

(8) Plant ontology (http://www.plantontology.org/), CHECK THIS!

EQ: Entity Quality model, similar to OBOE

OBO file format

2. Discussion about UseCaseKey

Based on draft: 

https://code.ecoinformatics.org/code/semtools/trunk/docs/algdraft/UseCaseKey.pdf
The basic question is the correlation between “key yes” and “distinct yes”. 

(1) “Distinct yes” implies: all the measurements together combine a key

(2) “Distinct no” (( may go together with all “key yes”. When two rows have the same value for these key measurements, they still represent the different observation. The argument behind is that there may be other “variables” that the data do not catch. 

Independent measurement: (A, 1.0), (A, 1.1) actually it’s changing

OWL 2

Dataset property is a key

Accommodate: time series, or repeated measurements

The same thing, with a lot of observation

3. Discussion about MaterializeDB algorithm

Based on draft

https://code.ecoinformatics.org/code/semtools/trunk/docs/algdraft/Materialize_DB.pdf 

A.MeasType: Value should be out. 

A.ObservationType: AnnotId denotes which dataset? (may not appear in the algorithm)

A.Map: ObsTypeId ( ResAttribute

OBOE.*

Measurement: MeasTypeId ( MeasType

Context: RelType(ContextType

No need to keep the relationship

One row may represent one or more observations 

Five main steps: 

(1) Define measure instances

(2) Partition the measurement set according to different observation type

(3) Find the entity for each partition

(4) Find the observation for each partition

(5) Find the context for each observation

Algorithm 1, five steps

(1) CrtMeasurement

(2) PartMeas

(3) FindEntity

(4) FindObs

(5) AssignContext

Further changes:

(1) Change the schema 

(2) Re-organize the writing

(3) Refine the lengthy example

State the relationship between “distinct yes” and “key yes”

Audience: us technical document, may go to a research paper

Further: 

Complexity analysis

Query rewriting: without materializing the data, get back the results 

4. Discuss SONET meeting time

Shawn’s time: Tue. Thu. bad; Friday is good: noon, temporarily set 

Regular: weekly meeting among us

More strategic talking: involve Matt; More technical talking: no need to involve Matt, but Mark will talk to Matt about this

Later on: (maybe monthly meeting) get Luis, etc. to be involved. 
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